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MASTER OF ARTS (ECONOMICS) 
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December, 2015 

MEC-002 : MACROECONOMIC ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as directed. 

SECTION A 

Answer any two questions from this section in about 
500 words each. 	 2x20=40 

1. Explain the role of Human Capital and R & D in 

endogenous growth theory. Also give a critical 

assessment of New Growth Theory. 

2. HOw can life cycle hypothesis solve Kuznets' 
consumption data puzzle ? Explain. 

3. How does a country use fiscal and monetary 
policies to correct a recession or unemployment 

with flexible exchange rates; given perfect capital 
mobility ? Explain. 

4. What is Steady State ? Explain the Golden Rule 
for steady state for an economy. 
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SECTION B 

Answer any five questions from this section in about 
250 words each. 	 5x 12=60 

5. Explain the main features of classical dichotomy. 

6. "IS — LM analysis is neo-classical synthesis." 

Explain. 

7. What are the implications of random walk 
hypothesis of consumption for the government 

policies ? 

Explain the idea of intertemporal maximization of 

utility. 

9. Distinguish between adaptive and rational 

expectation approaches. 

10. Compare and contrast J. Schumpeter's and 
R. Goldwin's approaches to generation of 
business cycles. 

11. Explain the two-period overlapping generations 

model. 

12. What are the main features of search models of 
employment ? Explain. 

13. Briefly explain the following : 

(a) Wage-price rigidity 

(b) Real Business Cycle 
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